(I) Proof of Cauchy-Riemann (CR)  $\bigcirc$ Theorem (CR) Assume f(z) = u(x,y) + iv(x,y), and assume u and v are differentiable (in the Sense of Real Valued functions  $u:\mathbb{R}^2 \to \mathbb{R}, v:\mathbb{R}^2 \to \mathbb{R}$ ) at the point  $Z_p = \chi_0 + \hat{\chi} \hat{g}_0$ . Then  $f'(z_0) = \lim_{\Delta z \to 0} \frac{f(z_0 + \Delta z) - f(z_0)}{\Delta z}$ (D) exists independent of how DZ->0 iff CR holds:  $\mathcal{N}^{\mathsf{X}}(\mathsf{X}^{\mathsf{O}},\mathfrak{P}^{\mathsf{O}})=\mathcal{N}^{\mathsf{A}}(\mathsf{X}^{\mathsf{O}},\mathfrak{P}^{\mathsf{O}})$ (CR) $U_{\mathcal{Y}}(x_{o}, \vartheta_{o}) = -V_{x}(x_{o}, \vartheta_{o})$ Note: We don't need the derivatives to be continuous, or even defined away from Zo P Proof (=>) For this we must assume \$ (30) exists in the sense of (D), and prove (CR). This we already did by taking  $\Delta z = \Delta x$ and getting  $f'(z_0) = U_x + 2V_x$ ; then  $\Delta z = 2\Delta y$ to get  $f'(z_0) = V_y - 2U_x = V_y & U_y = -V_x /$ 

(=) This is the hard way. For this we 2 must assume that u and v are differentiable at (x, 80) in the sense of real valued functions to gether with (CR), and prove that the limit (D) exists independent of how you take AZ->0. • We use the  $\mathbb{R}^2$  notation  $\chi = (\chi, \eta)$ ,  $\chi_0 = (\chi_0, g_0)$ ,  $|\chi| = \sqrt{\chi^2 + g^2} = |Z|$ . • To start we must recall the definition of differentiability at z. for real valued fas: Defn u(x,y) = u(x) is differentiable at  $\chi_{o} = (\chi_{o}, g_{o})$  if there exists a vector  $(\overline{a}, \overline{b})$ named  $\nabla u(z_0) = (a, b)$  such that  $\lim_{\chi \to \chi} \frac{|u[\chi) - u(\chi_0)}{|\chi - \chi_0|} - (\overline{a}, \overline{b}) \cdot \frac{\chi - \chi_0}{|\chi - \chi_0|} = 0 \quad (diff)$ 

(a,b) · (x-x) is linear approximation"

lim 
$$\left\{ \begin{array}{l} u(\underline{x}) - u(\underline{x}_{0}) \\ 1\underline{x} - \underline{x}_{0} \end{array}\right\} = 0$$
  
This says: The difference  $u(\underline{x}) - u(\underline{x}_{0})$   
agrees with a linear approximation  
 $(a, b) \cdot (\underline{x} - \underline{x}_{0})$  (i.e., a tanget plane) to  
within an error which tends to zero  
faster than  $1\underline{x} - \underline{x}_{0} = 1Az$ ) tends to zero  
faster than  $1\underline{x} - \underline{x}_{0} = 1Az$ ) tends to zero  
faster than  $1\underline{x} - \underline{x}_{0} = 1Az$ ) tends to zero  
faster than  $1\underline{x} - \underline{x}_{0} = 1Az$ ) tends to zero  
faster than  $1\underline{x} - \underline{x}_{0} = 1Az$ ) tends to zero  
for every direction at  $\underline{x}_{0}$   
if  $\underline{x} - \underline{x}_{0} = t\overline{v}$ , (i.e., we  
restrict to the line thru  $\underline{x}_{0}$   
in direction  $\overline{v}$ ,  $1|\overline{v}||=1$ ),  $\underline{Swes}$   
dt  $u(\underline{x}, tt\overline{v}) = (a, b) \cdot \overline{v} = \nabla u(\underline{x}_{0}) \cdot \overline{v}$   
(siving the formula for directional derivatives)

Taking  $\vec{v} = \vec{e}_1 = (1,0), \vec{e}_2 = (0,1)$  gives  $\frac{d}{dt} U(x, t t \vec{e}) = (a, b) \cdot (1, o) = a \implies U_x = a$ defn of Ux (Zo)  $\frac{d}{dt} U(\chi_0 + t\tilde{e}_{\chi}) = (a,b) \cdot (o,1) = b \Rightarrow U_y = b$ defn of Uy (20) Conclude: (diff) implies that  $(a,b) = \nabla u(x_0)$ in the usual sense of partial derivatives. · Note: The defin of derivative says u(x,y) must have a tangent plane covering every direction and its not enough to say ux & uy exist /

• To make the proof easier, we re-write the limit (diff) using the "order notation" (5)  $\lim_{\substack{\chi \to \chi_0}} \frac{|u(\chi) - u(\chi_0)|}{|\chi - \chi_0|} - (\overline{a}, \overline{b}) \cdot \frac{\chi - \chi_0}{|\chi - \chi_0|} = 0$ (gitt) Equivalently - multiply thru by 12-201  $u(x) - u(x_0) - (a,b)(x - x_0) = o(1)[x - x_0] (d,H)$ change in the change in u along  $\sim$  "little of otone" output u tanget plane  $\equiv a$  function which touch to Zero dr x⇒x In words: "I agrees with a tangent plane to within an error which tends to zero taster than z tends to zo" · Here oli) "little oh of one" is a function of  $\chi$  which tends to zero as  $\chi \rightarrow \chi_0$ . The idea is that we don't have to keep track of anything about o(1) except o(1) -> 0 • The order notation lets us replace a limit

Conclude: If both 
$$u(x,s)$$
 and  $v(x,s)$  are   
differentiable at  $z_o = (x_0, y_0)$ , then there  
exists vectors  $\nabla u_o = (\overline{a}, \overline{b})$  and  $\nabla v_o = (\overline{c}, \overline{d})$   
such that  
 $u(\underline{x}) - u(\underline{x}_0) = (\overline{a}, \overline{b}) \cdot (\underline{x} - \underline{x}_0) + o(1) | \underline{x} - \underline{x}_0|$   
 $v(\underline{x}) - v(\underline{x}_0) = (\overline{c}, \overline{d}) \circ (\underline{x} - \underline{x}_0) + o(1) | \underline{x} - \underline{x}_0|$   
or in vector notation: We do not dinstinguish  
different out terms of  
 $(\underline{v})(\underline{x}) - (\underline{v})(\underline{x}) = [a, b] | \underline{x} - \underline{x}_0] + o(1) | \underline{x} - \underline{x}_0|$   
 $(\underline{v})(\underline{x}) - (\underline{v})(\underline{x}) = [c, d] | \underline{v} - \underline{v}_0] + o(1) | \underline{x} - \underline{x}_0|$   
 $Taceblan = J(\underline{x}_0)$   
Therefore: If  $(\underline{v})$  is differentiable at  $\underline{x}_0$ ,  
then we must have  
 $J(\underline{x}_0) = [a, b] = [u_x, u_y] = [-\nabla u(\underline{x}_0) - ] - \nabla v(\underline{x}_0) - ]$ 

• Now we need to show 
$$f(z_{i}) exists at z = z_{0}$$
  
dssuming (CR)  $U_{x}=a = d = v_{y}$ ,  $u_{y}=b = -c = -v_{x}$   
But  $f'(z_{0}) exists if there exists  $(a, B) \in \mathbb{R}^{n}$  st  

$$\lim_{z \to z_{0}} \frac{f(z) + f(z_{0})}{z - z_{0}} = a + iB \iff f'(z_{0}) = a + iB$$
  
which is equivalent to  
 $f(z) - f(z_{0}) = (a + iB)(z - z_{0}) + o(1)[z - z_{0}]$   
which can be rewritten tends to zero as  $z \to z_{0}$   
( $u_{iv} - (u_{0}) = [(a + iB)(\Delta x + i\Delta y)] + o(1)[\Delta z]$   
 $(a \to -B \Delta y) = [(a + iB)(\Delta x + i\Delta y)] = [x - z_{0}]$   
( $d \to x - B \Delta y) = [x - z_{0}]$   
Conclude: To show  $f'(z_{0}) = xists$  we need only  
find  $(a, B)$  such that  
 $(u_{iv}) - (iv_{0}) = [a - B](\Delta x) = o(1)[x - z_{0}]$ .  
This alone implies  $f'(z_{0}) = a + iB$ .  
But assuming  $u, v$  differentiably at  $z_{0}$  implies  
 $(u_{iv}) - (u_{0}) = [a b](\Delta x) + o(1)[z - z_{0}]$   
 $(u_{iv}) - (u_{0}) = [a b](\Delta x) + o(1)[z - z_{0}]$ .$ 

That is - we need an (a,B) & IR2 such that 8 (1)  $\begin{pmatrix} U \\ 2V \end{pmatrix} - \begin{pmatrix} U \\ 1V_{o} \end{pmatrix} = \begin{vmatrix} \alpha & -\beta \\ 2\beta & 2\alpha \end{vmatrix} \begin{pmatrix} \Delta X \\ \Delta Y \end{pmatrix} = O(1) \begin{pmatrix} \chi - \chi_{o} \end{pmatrix}$ and assuming differentiability of u, v at z, we have (2)  $\begin{pmatrix} u \\ iv \end{pmatrix} - \begin{pmatrix} u_0 \\ iv_0 \end{pmatrix} = \begin{vmatrix} a & b \\ ic & ia \end{vmatrix} \begin{pmatrix} \Delta x \\ \Delta y \end{pmatrix} + o(i) [iz - x_0]$ with  $\alpha = U_{\chi}(\chi_{o})$ ,  $b = U_{y}(\chi_{o})$ ,  $c = V_{\chi}(\chi_{o})$ ,  $d = V_{y}(\chi_{o})$ . Finally if we assume (CR) holds at 20, then a=d, b=-c, and (2) becomes  $\begin{array}{c} (2) \\ (1)$ So (CR) implies (1) holds with  $\alpha = \alpha$ , B = -b, in which case f'(zo) exists and f(zo)= q+iB.